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Maths:

The LCM of 12 and 18 is:
a)36 b)24 )12 d) 60
Answer: a) 36

Which of the following numbers is divisible by 11?
a) 2343  b) 3520 c)121 d) 144
Answer: c) 121

What is the value of 62 + 42?
a)36 b)52 )50 d)20
Answer: c) 52

. Which is the Roman numeral for 497

a) XLV b) XLIX c)IL  d) XXXXIX
Answer: b) XLIX

The value of 3x + 2 when x =5 is:
a) 15 b)17 «¢)18 d)20
Answer: c) 17

Which of the following is a composite number?
a)3 b)5 «¢)7 d)9
Answer: d) 9

The perimeter of a square of side 8 cm is:
a)24cm b)32cm c)16cm  d)64cm
Answer: b) 32 cm

The number of diagonals in a pentagon is:
a)5 b)10 «¢)2 d)5

Answer: a) 5

A triangle with all sides different is called:

a) Isosceles  b) Equilateral c) Scalene d) Right-angled

Answer: c) Scalene

What is the HCF of 36 and 487
a)6 b) 12 c) 18 d) 24
Answer: b) 12

What is the sum of angles in a quadrilateral?
a)180° b)360° ¢)90° d)270°
Answer: b) 360°

What is the smallest prime number?
a)0 b)l ¢)2 d)3
Answer: c) 2
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Which of these is not a polygon?

a) Triangle b) Circle
Answer: b) Circle

A number when divided by 5 leaves a remainder 3. If the number is less than 20, it could be:

a)13 b)18 )15
Answer: a) 13

a)144cm? b)24cm?
Answer: a) 144 cm?

The reciprocal of % is:
a)5/3 b)3/5 o)1
Answer: a) 5/3

c) Hexagon

d) 10

c) 48 cm?

d) 15

d) Quadrilateral

. What is the area of a square of side 12 cm?

d) 36 cm?

Which of the following is not a factor of 457

a)5 b)9 c) 10
Answer: c) 10

d) 15

A cube has how many faces?

a)4 b)5 c)6
Answer: c) 6

d) 8

The value of (7 + 3) x 2 is:

a)13  b)17  ¢)20
Answer: c) 20

d) 14

The simplest form of 18/24 is:
a)% b)6/8 ) 9/12 d)2/3

Answer: a) %

If the average of 4, 6, 8 is x, thenx =7

a)5 b) 6 c)7
Answer: b) 6

A right angle triangle has one angle of 90°. What is the sum of the other two angles?

d) 8

a)90°  b)80°  ¢)100°  d)180°

Answer: a) 90°

If a rectangle has length 10 cm and breadth 5 cm, then its area is:

a) 50 cm? b) 15 cm?
Answer: a) 50 cm?

c) 25 cm?

d) 20 cm?

The smallest 4-digit number divisible by 8 is:

a) 1000 b) 1008
d) 1024
Answer: a) 1000

c) 1016
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If 1 litre = 1000 ml, then 2.5 litres = ? ml
a) 2500 ml b) 1500 ml c) 2000 ml
Answer: a) 2500 ml

Which of the following is a perfect cube?
a)16  b)27 «¢)36 d)45
Answer: b) 27

Which number is divisible by both 3 and 4?

a)12 b)18 ¢)20 d)16
Answer: a) 12

How many degrees in a straight angle?
a)90°  b)180° c)270°  d)360°
Answer: b) 180°

d) 1000 ml

Which of the following is a factor of every number?

a)l b) 0 ¢) The number itself
Answer: d) Bothaand c

What is the square of 15?
a) 200 b) 215 c) 225 d) 245
Answer: c) 225

A shopkeeper sells an item for X240. If the cost price is 200, what is the profit?

a)I30 b)X40 )50  d) 60
Answer: c) 40

Which of the following has no end?
a) Line b)Ray  c)Line segment

Answer: a) Line

Which number is exactly divisible by 9?

a)1215 b)1436 ) 1203  d) 1305

Answer: a) 1215

Find the median of 3,5, 7,9, 11
a)5 b) 7 c)9 d) 6
Answer: b) 7

How many edges does a cube have?
a)6  b)8 c)10 d) 12
Answer: d) 12

Simplify: (5x4)+2+3=7?
a) 10 b) 11 c) 13 d) 15
Answer: b) 13

d) Bothaandc

d) Point
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Which of the following is a negative rational number?
a)-5 b) % c)-3/4 d)o
Answer: c) -3/4

Which is the value of 73?
a) 49 b)343  ¢)147 d)21
Answer: b) 343

The average of first five even numbers is:
a)5 b) 6 c)4 d) 8
Answer: b) 6

Which of the following is not a prime number?
a)7 b) 13 c)21 d) 29
Answer: c) 21

If 3 pens cost X24, cost of 5 pens is:
a) X35 b) 40 c) 338 d) %42
Answer: b) 40

What is the place value of 7 in 3,7847
a)7000 b)700 ¢)70 d)7
Answer: b) 700

What is the perimeter of a rectangle with length 10 cm and breadth 6 cm?

a) 16 cm b)20cm ¢)30cm d)32cm
Answer: d) 32 cm

Which number lies between % and %:?
a) 0.46 b) 0.51 c)0.34 d) 0.38
Answer: a) 0.46

Which of these is a triangular prism?
a) Cube  b) Cylinder c) Cone d) Tent-shaped object
Answer: d) Tent-shaped object

Simplify: (32+22)x2 =7
a) 20 b) 22 c) 26 d) 28
Answer: d) 28

What is the product of first four prime numbers?
a)210 b)231 ¢)101  d)143
Answer: a) 210 (2x3x5x7)
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How many lines of symmetry does a square have?
a)2 b)3 ¢4 d)5
Answer: c) 4

Which is the greatest 3-digit number divisible by 9?
a) 999 b)990 «¢)981 d)972
Answer: a) 999

Find the cube of 4:
a) 16 b) 64 c)81 d)36
Answer: b) 64

What is the next prime number after 29°?
a) 30 b)31 ¢)32 d)33
Answer: b) 31

The product of two even numbers is always:
a) Even b) Odd c) Prime  d) Composite
Answer: a) Even

Which of the following numbers is both a square and a cube?
a)16 b)64  ¢)81  d)100
Answer: b) 64

Convert 2.5 into a fraction:
a) 2/5 b) 25/10 c)5/2 d) 3/2
Answer: c) 5/2

A triangle with one 90° angle is called:
a) Scalene triangle b) Isosceles triangle c) Acute triangle
Answer: d) Right-angled triangle

What is the square root of 1447
a) 10 b) 12 c)14 d) 16
Answer: b) 12

The number of vertices in a cube is:
a)6 b) 8 c) 12 d) 10
Answer: b) 8

What is the value of 1 — (-3)?
a)-2 b) -4 c)4 d)-1
Answer: c) 4

d) Right-angled triangle
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Which of the following numbers is divisible by 6?
a)72  b)73 c) 75 d) 77
Answer: a) 72

Find the LCM of 6, 8 and 12:
a) 24 b) 36 c) 48 d) 12
Answer: c) 48

What is the value of 25?
a) 32 b) 25 )20 d)16

Answer: a) 32

Which property is this:ax 1 =a?

a) Commutative b) Associative c) ldentity d) Distributive

Answer: c¢) ldentity

The average of 6, 8, 10 is:
a)8 b)7 c)9 d)6
Answer: a) 8

The height of a triangle is 10 cm and base is 8 cm. Area =7?

a) 40 cm? b) 80 cm? c) 20 cm? d) 100 cm?
Answer: a) 40 cm?
(Area = % x base x height = % x 8 x 10)

Which of these is not a 3D shape?
a) Cube b) Cone c) Cylinder d) Square
Answer: d) Square

Which of the following numbers is a rational number?
a)v2 b) c) % d)v3
Answer: ¢) %

What is 25% of 80?
a)15 b)20 )25 d) 30
Answer: b) 20

Which number is a factor of both 24 and 367
a)4a b) 6 c)8 d) 10
Answer: b) 6

A polygon with 6 sides is called:

a) Hexagon b) Pentagon c) Heptagon  d) Octagon

Answer: a) Hexagon

The time between 9:00 and 10:45 is:

a)1lhr b) 1 hr 30 min ¢) 1 hr 15 min d) 1 hr 45 min

Answer: c) 1 hr 45 min
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Which of these is not an angle?
a) Acute b) Straight c)Zero  d)Circle
Answer: d) Circle

A cube has how many equal edges?
a)8 b) 10 c)12 d)6
Answer: c) 12

Whatis 7x8 -4 x2?

a) 52 b) 56 c) 48 d) 60

Answer: a) 52

Which of the following decimals is the greatest?
a)0.65 Db)0.7 c) 0.68 d) 0.67

Answer: b) 0.7

If 25+ x =40, thenx="?
a)10 b)15 ¢)20 d)25
Answer: b) 15

If a box contains 5 red, 3 green, and 2 blue balls, what is the probability of picking a green ball?

a) 2/5 b) 3/10 c)3/7 d) 1/2
Answer: b) 3/10

What is the value of (23 x 32)?
a)36 b)72 )18 d)24
Answer: b) 72

Which of these is the greatest 2-digit prime number?

a)97 b)99 c)8 d)91
Answer: a) 97

If the perimeter of an equilateral triangle is 60 cm, what is the length of each side?

a)15cm b) 20 cm c) 18 cm d) 30 cm
Answer: b) 20 cm

How many grams are there in 2.5 kilograms?
a) 250 b) 2500 c) 25 d) 2050
Answer: b) 2500
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Science:

Which of the following is a non-living thing but shows movement?
a)Tree b)Dog c)Water d)Wind
Answer: d) Wind

Which part of the plant makes food?
a) Root b)Stem ) Leaf d) Flower
Answer: c) Leaf

Animals that eat both plants and animals are called:
a) Carnivores b) Herbivores  c) Omnivores  d) Insectivores
Answer: c) Omnivores

Which of the following is an example of a reversible change?
a) Burning paper  b) Cooking food c) Melting wax  d) Rusting iron
Answer: ¢c) Melting wax

Which gas do plants take in during photosynthesis?
a) Oxygen b) Carbon dioxide  c) Nitrogen d) Hydrogen
Answer: b) Carbon dioxide

Which of these is not a habitat?
a) Forest  b)Ocean c¢)Mountain  d) House
Answer: d) House

The organ that pumps blood in our body is:
a) Brain  b) Lungs c) Kidney  d) Heart
Answer: d) Heart

Which type of motion does the Earth show on its axis?
a) Linear b) Rotational c) Oscillatory d) Rectilinear
Answer: b) Rotational

Which of the following grows underground?
a) Mango b)Potato c)Apple d)Banana
Answer: b) Potato

Which part of the human body is responsible for digestion?
a) Brain b) Liver c) Stomach  d) Heart
Answer: c) Stomach

Which fiber is obtained from animals?
a) Cotton b)Jute ¢)Wool d)Rayon
Answer: c) Wool

. Which of these is an example of a physical change?

a) Cutting paper b) Burning wood c¢) Cooking rice d) Digestion of food
Answer: a) Cutting paper
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The smallest unit of life is:
a) Atom b)Cell c¢)Tissue d)Organ
Answer: b) Cell

Which one of the following is a good conductor of electricity?
a) Rubber b)Wood c¢)Copper d) Plastic
Answer: c) Copper

Which of the following organisms breathe through gills?
a) Frog b) Snake c) Fish  d) Lizard
Answer: c) Fish

Which part of the plant absorbs water?
a)Stem b)leaves c)Flowers d)Roots
Answer: d) Roots

The main source of energy for Earth is:
a) Moon b)Stars c¢c)Wind d)Sun
Answer: d) Sun

Which of these is a natural fibre?
a) Nylon  b)Rayon c)Polyester d)Jute
Answer: d) Jute

Which of the following is used for measuring temperature?
a) Barometer  b) Thermometer c)Speedometer  d) Hydrometer
Answer: b) Thermometer

A magnet always has:
a) One pole  b) Two similar poles c) Two opposite poles  d) No poles
Answer: c) Two opposite poles

Which force pulls objects toward the Earth?
a) Muscular force  b) Magnetic force c) Gravitational force  d) Friction
Answer: c) Gravitational force

Which of these is NOT a sense organ?
a) Nose b) Ear ¢)Brain  d) Skin
Answer: c) Brain

Which planet is known as the 'Red Planet'?
a) Earth  b)Venus c¢)Mars d)Saturn
Answer: c) Mars

Which gas is used by the human body during respiration?
a) Carbon dioxide  b) Nitrogen  c¢) Oxygen  d) Hydrogen
Answer: c) Oxygen

Which of these is a synthetic fibre?
a) Cotton b) Silk c) Nylon d) Wool
Answer: c) Nylon
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What do we call animals that live both on land and in water?
a) Terrestrial  b) Aquatic  c) Amphibians  d) Aerial
Answer: c) Amphibians

Which part of the plant is responsible for making seeds?
a) Leaf b) Flower c)Root d)Stem

Answer: b) Flower

The energy stored in food is known as:

a) Light energy b) Heat energy c) Sound energy d) Chemical energy

Answer: d) Chemical energy

Which part of the body controls all other organs?
a) Heart b)Lungs c)Brain d) Liver
Answer: c) Brain

Which of the following is not a nutrient?
a) Carbohydrate b) Protein  c) Oxygen d) Vitamins
Answer: c) Oxygen

The gas released during respiration is:
a) Oxygen  b) Hydrogen c) Nitrogen  d) Carbon dioxide
Answer: d) Carbon dioxide

Which of the following shows circular motion?
a) Running boy  b) Moving train  c) Spinningtop  d) Dropping ball
Answer: c) Spinning top

The most abundant gas in the Earth's atmosphere is:
a) Oxygen b) Carbon dioxide  c) Nitrogen d) Hydrogen
Answer: c) Nitrogen

Which is an example of a herbivore?
a) Lion b)Tiger c)Cow d)Dog
Answer: c) Cow

Which of these is a transparent material?
a) Wood b) Glass c) Brick d) Rubber
Answer: b) Glass

In which state of matter do particles have maximum movement?
a) Solid b) Liquid c¢)Gas d)Plasma
Answer: c) Gas

The process of water changing to water vapour is:
a) Condensation b) Precipitation  c) Evaporation  d) Melting
Answer: c) Evaporation
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An organism that prepares its own food is called:
a) Parasite  b) Autotroph  c) Heterotroph  d) Herbivore
Answer: b) Autotroph

The function of the skeletal system is to:
a) Help in digestion  b) Help in respiration  c) Provide support
Answer: c) Provide support

The unit of measurement for force is:
a) Kilogram  b) Newton  c) Pascal d) Joule
Answer: b) Newton

The movement of food through the digestive tract is known as:
a) Peristalsis  b) Digestion  c) Absorption d) Excretion
Answer: a) Peristalsis

Which organ filters blood in the human body?
a) Liver  b) Heart c) Brain  d) Kidney
Answer: d) Kidney

The hardest substance in the human body is:
a) Bone  b)Skull c)Tooth enamel d) Cartilage
Answer: c) Tooth enamel

The boiling point of water is:
a)90°C  b)95°C c)100°C d) 110°C
Answer: c) 100°C

A substance that allows electricity to pass through is called:
a) Insulator  b) Conductor c) Filter  d) Solute
Answer: b) Conductor

Which of the following is a man-made fibre?
a) Cotton  b)Silk c) Nylon d) Wool
Answer: c) Nylon

Which among the following animals lays eggs?
a)Cat b)Cow c)Hen d)Dog
Answer: c) Hen

. Which part of the digestive system absorbs nutrients?

a) Stomach b) Liver  c¢)Smallintestine  d) Large intestine
Answer: c) Small intestine

Which organ helps in removing waste through urine?
a) Lungs b) Kidneys c) Heart d) Intestines
Answer: b) Kidneys

d) Absorb nutrients
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Which of the following is NOT a simple machine?
a) Lever  b)Pulley c)Screw d)Generator
Answer: d) Generator

Which of the following is a gaseous fuel?
a) Petrol b) Diesel c) CNG d) Kerosene
Answer: c) CNG

Which one of the following animals breathes through moist skin?
a) Fish b) Frog c) Snake d) Bird
Answer: b) Frog

The main source of oxygen in the atmosphere is:
a) Animals b) Factories c) Plants d) Volcanoes
Answer: c) Plants

Which of the following is not a source of protein?
a) Pulses b) Milk c) Rice d) Eggs
Answer: c) Rice

The movement of the Earth around the Sun is called:
a) Rotation b) Revolution c¢) Spinning d) Bending
Answer: b) Revolution

Which of these is a deficiency disease?
a) Dengue b) Malaria c) Rickets d) Typhoid
Answer: c) Rickets

Which of the following helps animals blend with their surroundings?
a) Camouflage b) Migration c) Hibernation d) Adaptation
Answer: a) Camouflage

Which property of water allows it to dissolve many substances?
a) Density b) Solubility c) Viscosity d) Transparency
Answer: b) Solubility

Which of these is used to generate hydroelectricity?
a) Sunlight b) Wind c) Water d) Steam
Answer: c) Water

Which system in our body controls all other systems?
a) Digestive b) Circulatory c) Nervous d) Excretory

Answer: c) Nervous

What happens to air when it is heated?

a) It contracts b) It becomes heavy c) It expands d) It disappears

Answer: c) It expands
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Which of the following is the source of wool?
a) Goat b) Sheep c) Camel d) Cow
Answer: b) Sheep

Which of the following is a good conductor of heat?
a) Plastic b) Wood c) Glass d) Iron
Answer: d) Iron

The term "photosynthesis" means:
a) Making light b) Using sunlight ¢) Making food using sunlight d) Melting water
Answer: c) Making food using sunlight

Which gas turns lime water milky?

a) Oxygen b) Carbon dioxide c¢) Nitrogen d) Helium

Answer: b) Carbon dioxide

The force that resists motion is called:

a) Gravitational force b) Magnetic force ¢) Muscular force d) Friction
Answer: d) Friction

Which organ removes carbon dioxide from our body?
a) Kidneys b) Lungs c) Liver d) Heart
Answer: b) Lungs

Which type of soil is best for growing wheat?
a) Sandy b) Loamy c) Clayey d) Rocky
Answer: b) Loamy

Which organ pumps blood to the whole body?
a) Brain b) Lungs c) Heart d) Kidney
Answer: c) Heart

Which of the following processes involves water loss in plants?
a) Transpiration b) Condensation c) Evaporation d) Precipitation
Answer: a) Transpiration



English:

Choose the correctly punctuated sentence:

a) what a beautiful flower! b) What a beautiful flower. c¢) What a beautiful flower! d)what a
beautiful flower.

Answer: ¢) What a beautiful flower!

Identify the adjective in the sentence: "She wore a sparkling dress."
a) She b) Wore c) Sparkling d) Dress
Answer: c) Sparkling

Which sentence is in the present perfect tense?

a) She sings beautifully. b) She sang yesterday. c) She has sung already. d) She is
singing.

Answer: ¢) She has sung already.

Fill in the blank: He ran so fast ___ he missed the train.
a) because b) but c) that d) and
Answer: c) that

Which of the following is a synonym of "enormous"?
a) Tiny b) Huge c) Small d) Narrow
Answer: b) Huge

Identify the abstract noun:
a) Lion b) Kindness c) Table d) Pencil
Answer: b) Kindness

What is the antonym of "polite"?
a) Kind b) Impolite c) Helpful d) Respectful
Answer: b) Impolite

Which of these sentences is interrogative?
a) Close the door. b) Please sit down. ¢) Where are you going? d) Wow, what a view!
Answer: ¢) Where are you going?

Choose the correct plural form of “knife”:
a) Knifes b) Knife c) Knive d) Knives
Answer: d) Knives

. Identify the preposition in the sentence: "The book is under the table."
a) Book b) Is c) Under d) Table
Answer: ¢) Under
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Which word is an adverb?
a) Quickly b) Speed c) Race d) Car
Answer: a) Quickly

Which is a collective noun?
a) Apple b) Group c) Fast d) Happy
Answer: b) Group

Choose the correct spelling:
a) Neccessary b) Neccesary c) Necessary d) Necceserry
Answer: c) Necessary

Identify the subject in the sentence: "The birds are flying in the sky."
a) Sky b) Birds c) Flying d) Are
Answer: b) Birds

Fill in the blank: Neither Riya __ Ritu was present.
a) Or b) Nor c) And d) But
Answer: b) Nor

Choose the correct verb form: "He ____ a new bicycle last week."
a) Buys b) Buying c) Bought d) Buy
Answer: ¢) Bought

What is the comparative form of "good"?
a) Gooder b) Better c) Best d) More good
Answer: b) Better

Identify the pronoun in the sentence: "They went to the zoo yesterday."
a) Zoo b) Went c) They d) Yesterday
Answer: c) They

What does the prefix "un-" mean in the word "unhappy'?
a) Very b) Opposite c) Similar d) Past
Answer: b) Opposite

Which is a homophone of “bare”?
a) Beer b) Bear c) Bar d) Bore

Answer: b) Bear

Choose the correct sentence:

a) He don’t like apples. b) He doesn’t likes apples. c) He doesn’t like apples.

d) He not
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like apples.
Answer: c) He doesn’t like apples.

Identify the article in the sentence: "She bought a pencil."
a) She b) Bought c)A d) Pencil
Answer: c) A

. The past participle of "go" is:

a) Gone b) Went c) Go d) Going
Answer: a) Gone

Which sentence contains a conjunction?

a) He and | are friends. b) He plays well. c) He is tired.

Answer: a) He and | are friends.

Choose the indirect speech form: She said, "I am tired."
a) She said she is tired. b) She said that she was tired.
that | was tired.

Answer: b) She said that she was tired.

Choose the correct possessive pronoun:
a) Me b) Mine c)l d) Them
Answer: b) Mine

Which sentence is in the future tense?

a) She eats dinner. b) She ate dinner. c) She is eating dinner.

Answer: d) She will eat dinner.
What is the antonym of “sharp”?
a) Bright b) Blunt c) Dull d) Strong

Answer: b) Blunt

Identify the type of sentence: "Shut the door, please.”

a) Exclamatory b) Interrogative c) Declarative d) Imperative

Answer: d) Imperative

Which of the following is a concrete noun?
a) Peace b) Honesty c) Apple d) Truth
Answer: c) Apple

Fill in the blank: The children ___ playing in the park.
a)ls b) Am c) Are d) Was
Answer: c) Are

d) He ran fast.

c) She says she was tired. d) She said

d) She will eat dinner.
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Choose the word with a silent letter:
a) Knight b) Kite c) Kitten d) Kind
Answer: a) Knight

The plural of “mouse” is:
a) Mouses b) Mices ¢) Mice d) Mouse
Answer: ¢) Mice

Identify the object in the sentence: "Rita painted a picture."
a) Rita b) Painted c)A d) Picture
Answer: d) Picture

What is the past tense of “write”?
a) Wrote b) Write c) Writed d) Writing
Answer: a) Wrote

Which word is a preposition?
a) After b) Fast c) Always d) Quickly
Answer: a) After

Choose the correct spelling:
a) Acheivement b) Achievement c) Achivement d) Acheivment
Answer: b) Achievement

Select the sentence with a simile:
a) She is a lion in the field. b) She roars like a lion. c) She is very strong.
hard.

Answer: b) She roars like a lion.

Which is a question tag for: “You are coming,”?
a) Aren’t you? b) Is you? c) Don't you? d) Won't you?
Answer: a) Aren’t you?

What is the meaning of the idiom: “Break the ice”?
a) Start talking b) Break something c) Slipon ice d) Stop talking
Answer: a) Start talking

. What is the rhyming word for “light”?

a) Late b) Right c) Let d) Laugh
Answer: b) Right

Choose the correct sentence:
a) He don’t knows me. b) He don’t know me. c) He doesn’t knows me.
know me.

Answer: d) He doesn’t know me.

d) She fights

d) He doesn’t
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Identify the prefix in the word “unfair”:
a) Fair b) Un c) Unf d) Fai
Answer: b) Un

Choose the opposite of "frequent":
a) Many b) Regular c) Rare d) Fast

Answer: c) Rare

What is a homonym for “bat”?

a) Bad b) Bat (sports item or animal) c) Bite d) Hit

Answer: b) Bat

Choose the correct indirect speech:
"She said, 'l love ice cream."”

a) She said that | love ice cream. b) She said that she loved ice cream.

love ice cream. d) She said that she has loved ice cream.

Answer: b) She said that she loved ice cream.

Fill in the blank with correct article: She bought ___ orange from the market.

a)A b) An c) The d) No article
Answer: b) An

Choose the correct form of verb: Neither the boy nor the girls ___ at home.

a)ls b) Are c) Was d) Be
Answer: b) Are

Identify the adjective of quality:
a) Tall b) Four c) Several d) First
Answer: a) Tall

What is the base form of the word “slept”?
a) Sleeped b) Sleeps c) Sleep d) Sleeping
Answer: c) Sleep

Which is a compound word?
a) Cupboard b) Do c) Room d) Pen
Answer: a) Cupboard

Find the noun in the sentence: The dog barked loudly.
a) Barked b) Loudly c) Dog d) The

Answer: c) Dog

Which sentence uses a present participle?

a) He jumped high. b) The flying bird looked beautiful.

Answer: b) The flying bird looked beautiful.

Choose the correct synonym of “angry”:
a) Calm b) Upset c) Furious d) Funny

c¢) She jumps.

c¢) She said that she

d) | was run.
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Answer: c¢) Furious

Which of these is an interjection?
a) Oh! b) Is c)lt d) The
Answer: a) Oh!

Which type of sentence is this: “May God bless you.”
a) Declarative b) Interrogative c¢) Exclamatory
Answer: d) Optative

Which of the following is not a vowel sound?

a)/a/ b)/e/ <c/p/ d)/i/
Answer: c) /p/

Which one is a reflexive pronoun?
a) Myself b) Me c)l d) My
Answer: a) Myself

Choose the correct comparative adjective:
a) More tall b) Taller c) Tallest d) Tall
Answer: b) Taller

Identify the transitive verb: She kicked the ball.
a) She b) Kicked c) Ball d) The
Answer: b) Kicked

Pick the correct passive voice: “He eats an apple.”

a) An apple is eaten by him. b) An apple ate by him.

eating.
Answer: a) An apple is eaten by him.

Which of these words has a prefix and a suffix?

d) Optative

c) He is eating apple.

a) Unhappy b) Kindness c¢) Unkindness d) Happy

Answer: ¢) Unkindness

What is the plural of “calf”?
a) Calfs b) Calves c) Calfes d) Calve
Answer: b) Calves

Which of the following is a proper noun?
a) River b) Girl c) Ganga d) School

Answer: c) Ganga

What does the word “bilingual” mean?

a) Speaking one language b) Writing poetry c) Speaking two languages

Answer: ¢) Speaking two languages

d) Apple is

d) Reading books
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Choose the sentence in past continuous tense:
a) | ate food. b) I am eating food. c) | was eating food.
Answer: c¢) | was eating food.

Choose the correct pronunciation of “read” (past tense):
a) Reed b) Red c) Rid d) Rod
Answer: b) Red

Pick the interrogative sentence:

a) He is late. b) Why are you crying? c) She is my sister.

Answer: b) Why are you crying?

Choose the correct antonym of “brave”:
a) Hero b) Wise c) Fearful d) Coward
Answer: d) Coward

d) | will eat food.

d) Sit down.




SST:

Who was the founder of the Maurya Empire?
a) Ashoka b) Bindusara c) Chandragupta Maurya d) Harshavardhana
Answer: c¢) Chandragupta Maurya

What is the meaning of the term “BC” in history?
a) Before Calendar b) Before Common c) Before Christ d) Before Current
Answer: c) Before Christ

. The Tropic of Cancer passes through how many Indian states?
a)6 b) 7 c)8 d)9
Answer: d) 9

Which planet is known as the “Blue Planet”?
a) Mars b) Earth c) Neptune d) Uranus
Answer: b) Earth

Which is the oldest Veda?
a) Rigveda b) Yajurveda c) Samaveda d) Atharvaveda
Answer: a) Rigveda

What kind of map shows boundaries of countries and states?
a) Physical map b) Political map c) Thematic map d) Weather map
Answer: b) Political map

. The Indus Valley Civilization is also known as:
a) Vedic Culture b) Harappan Civilization c¢) Buddhist Culture d) Gupta Empire
Answer: b) Harappan Civilization

Which gas forms the maximum part of Earth's atmosphere?
a) Oxygen b) Hydrogen c) Carbon dioxide d) Nitrogen
Answer: d) Nitrogen

. The Great Bath was found in which Indus Valley city?
a) Harappa b) Mohenjo-daro c) Lothal d) Dholavira
Answer: b) Mohenjo-daro

10. Who is called the “Father of Indian Constitution”?
a) Mahatma Gandhi b) Jawaharlal Nehru c) Dr. B. R. Ambedkar d) Sardar Patel
Answer: c) Dr. B. R. Ambedkar

11.
12.
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17.

18.

19.

20.
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22.

What is the meaning of “Satyagraha”?

a) Use of violence b) Obeying rules c) Forcefully capturing d) Non-violent resistance

Answer: d) Non-violent resistance

What type of government is there in India?
a) Monarchy b) Dictatorship c) Republic d) Aristocracy
Answer: ¢) Republic

Which direction lies between North and East?
a) Southeast b) Northwest c) Northeast d) Southwest
Answer: c) Northeast

The latitude which divides Earth into two equal halves is called:
a) Tropic of Cancer b) Tropic of Capricorn c) Equator d) Prime Meridian
Answer: ¢) Equator

Who was the most famous ruler of the Maurya Dynasty?
a) Ashoka b) Chandragupta c) Samudragupta d) Harshavardhana
Answer: a) Ashoka

How many Union Territories does India have (as of 2024)?
a)7 b) 8 c)9 d)6
Answer: b) 8

What is the main source of livelihood in villages?
a) Business b) Farming c) Fishing d) Industry
Answer: b) Farming

Which is the southernmost point of India?
a) Kanyakumari b) Indira Point ¢) Rameshwaram d) Lakshadweep
Answer: b) Indira Point

Which ancient text mentions rivers like Saraswati and Indus?
a) Ramayana b) Mahabharata c) Rigveda d) Arthashastra

Answer: c) Rigveda

What is the full form of "UN"?

a) United Nations b) Universal Network c) Union of Nations d) United Nationhood

Answer: a) United Nations
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A narrow channel of the sea joining two larger bodies of water is called:
a) Gulf b) Strait c) Island d) Peninsula
Answer: b) Strait

What are longitudes also called?
a) Meridians b) Latitudes c) Equators d) Lines of Sun
Answer: a) Meridians

How many spokes are there in the Ashoka Chakra?
a)12 b) 18 c)24 d) 26
Answer: c) 24

What do we call maps that show rainfall or crops?
a) Physical maps b) Weather maps c) Thematic maps d) Political maps
Answer: ¢) Thematic maps

The system of local government in villages is known as:
a) Parliament b) Panchayati Raj ¢) Municipality d) Lok Sabha

Answer: b) Panchayati Raj

Who discovered the sea route to India?

a) Christopher Columbus b) Vasco da Gama c) Marco Polo d) Ferdinand Magellan

Answer: b) Vasco da Gama

What is the capital of Ladakh?
a) Leh b) Srinagar c) Kargil d) Jammu
Answer: a) Leh

The Prime Meridian passes through which city?
a) New York b) Greenwich c) Paris d) Rome

Answer: b) Greenwich

The Harappan script is:

a) Alphabetical b) Fully decoded c¢) Not yet fully understood d) In Sanskrit

Answer: ¢) Not yet fully understood
What is the name of India's longest river?
a) Yamuna b) Ganga ¢) Brahmaputra d) Godavari

Answer: b) Ganga

What is the meaning of “monarchy”?

a) Rule by one person b) Rule by many c) Rule by constitution d) Rule by king and

queen
Answer: d) Rule by king and queen
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The Himalayas were formed by the collision of which two plates?

a) African and Australian b) Eurasian and Indian c) American and Indian d) Antarctic

and Indian
Answer: b) Eurasian and Indian

The basic unit of administration in a village is:
a) Ward b) District c) Panchayat d) Gram Sabha
Answer: ¢) Panchayat

A landmass surrounded by water on three sides is called:
a) Island b) Peninsula c) Isthmus d) Continent
Answer: b) Peninsula

Which source provides direct evidence about the past?
a) Coins b) Books c) Movies d) Fiction
Answer: a) Coins

Who wrote the Arthashastra?
a) Ashoka b) Kautilya c) Chanakya d) Both b and c
Answer: d) Both b and ¢

What is the southernmost Union Territory of India?
a) Andaman and Nicobar Islands b) Lakshadweep c¢) Puducherry
Answer: a) Andaman and Nicobar Islands

What are latitudes also called?
a) Meridians b) Parallels c) Circles d) Degrees
Answer: b) Parallels

A landform higher than a hill is called:
a) Plateau b) Valley ¢) Mountain d) Plain
Answer: ¢) Mountain

What does the term "monsoon" mean?
a) Wind that blows only in winter b) Cold air c) Seasonal winds
Answer: c) Seasonal winds

Which of these is a source of secondary information?
a) Diary b) Autobiography c) Textbook d) Inscription
Answer: c) Textbook

What does the word “paleolithic” mean?
a) New stone b) Bronze tool c) Old stone d) Stone painting
Answer: c) Old stone

What is the full form of “MLA”?

a) Member of Law Authority b) Minister of Legislative Assembly
Assembly d) Member of Legal Association

Answer: ¢) Member of Legislative Assembly

d) Daman and Diu

d) Strong storm

c) Member of Legislative
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What does a compass show?
a) Rainfall b) Directions c) Altitude d) Soil
Answer: b) Directions

Which is the largest continent?
a) Africa b) Europe c) Asia d) Australia
Answer: c) Asia

The place where a river starts is called:
a) Mouth b) Delta c) Source d) Bank

Answer: c) Source

The term “tribe” refers to:

a) Urban people b) Mountain dwellers c¢) Traditional community groups d) Kings and

rulers
Answer: c¢) Traditional community groups

Which of the following is a biotic component of the environment?
a) Soil b) Air c) Trees d) Rocks
Answer: c) Trees

What does a weather map show?
a) Land features b) Temperature and rainfall c) Population d) Political divisions
Answer: b) Temperature and rainfall

What is the local self-government body in towns called?
a) Panchayat b) Parliament ¢) Municipality d) Gram Sabha
Answer: ¢) Municipality

The sun rises in the:
a) West b) South c) East d) North
Answer: c¢) East

Which ruler was the first to unify most of India under one empire?
a) Ashoka b) Akbar c) Chandragupta Maurya d) Harshavardhana
Answer: ¢) Chandragupta Maurya

What does the color green in the Indian flag represent?
a) Peace b) Agriculture c) Power d) Strength
Answer: b) Agriculture

The main occupation of people in hilly areas is:
a) Mining b) Farming and tourism c) Industry d) Fishing
Answer: b) Farming and tourism

Which of the following is not a fundamental right?
a) Right to Vote b) Right to Equality c) Right to Education d) Right to Freedom
Answer: a) Right to Vote
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Who elects the members of Lok Sabha?
a) President b) Prime Minister c) Citizens of India d) Governor
Answer: c) Citizens of India

The ruler who embraced Buddhism after the Kalinga War was:
a) Harsha b) Ashoka c) Chandragupta d) Bindusara
Answer: b) Ashoka

A flat-topped high land is known as:
a) Hill b) Valley c) Plateau d) Plain
Answer: c) Plateau

Which is the highest mountain range in the world?
a) Alps b) Andes c) Himalayas d) Aravallis
Answer: c) Himalayas

What type of climate does India have?
a) Equatorial b) Desert c) Mediterranean d) Tropical monsoon
Answer: d) Tropical monsoon

Which of these helps to locate places on a map?
a) Scale b) Title c) Grid d) Compass
Answer: c¢) Grid

What is a group of islands called?
a) Peninsula b) Archipelago c) Isthmus d) Continent
Answer: b) Archipelago

Which of these rivers does not originate in India?
a) Ganga b) Yamuna ¢) Brahmaputra d) Narmada
Answer: ¢) Brahmaputra

In ancient times, people settled near:
a) Mountains b) Rivers c) Deserts d) Forests

Answer: b) Rivers

What does “democracy” mean?

a) Rule by the king b) Rule by a few c) Rule by elected people d) Rule by army

Answer: c) Rule by elected people

Which of these is a natural resource?
a) Coal b) Plastic c) Cement d) Brick
Answer: a) Coal

The earth is tilted at an angle of:
a) 23.5° b) 45° c) 30° d) 90°
Answer: a) 23.5°
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Who among the following wrote books on medicine in ancient India?
a) Aryabhatta b) Charaka ¢) Panini d) Chanakya
Answer: b) Charaka

The practice of untouchability was declared illegal in which article of the Constitution?
a) Article 14 b) Article 17 c) Article 21 d) Article 32
Answer: b) Article 17

. Which state in India receives the highest rainfall?

a) Assam b) Meghalaya c) Kerala d) Odisha
Answer: b) Meghalaya

What is the role of the judiciary?
a) Make laws b) Implement laws c) Interpret laws d) Enforce military
Answer: c) Interpret laws

What is the time difference between GMT and IST?
a) 4 hours b) 5.5 hours c) 6 hours d) 2.5 hours
Answer: b) 5.5 hours

Which of these animals was domesticated in the Harappan Civilization?
a) Tiger b) Horse c) Dog d) Elephant
Answer: d) Elephant

What is the meaning of “urban”?
a) Village area b) Desert region c) City or town d) Forest area
Answer: c¢) City or town

What is the term for a drawing of Earth’s surface as seen from above?
a) Globe b) Map c) Diagram d) Chart
Answer: b) Map
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Logical Reasoning:

What comes next in the series: 2, 4, 8, 16, ?
a) 20 b) 24 c) 32 d) 30
Answer: c) 32

If CAT =3120, and DOG = 4157, then BAT =7
a) 2130 b) 2120 c) 2110 d) 3130
Answer: b) 2120

Which is the odd one out?
a) Circle b) Triangle c) Square d) Rectangle
Answer: a) Circle

Find the missing number: 3, 6, 11, 18, 27, ?
a) 38 b) 36 c) 39 d) 35
Answer: c) 38

If MONDAY is coded as 135764, then TUESDAY is coded as:
a) 206547 b) 206574 c) 204675 d) 205674
Answer: d) 205674

Which direction will you face if you turn left from East?
a) North b) West c) South d) Northeast
Answer: a) North

Which word cannot be formed from “INDEPENDENCE”?
a) DICE b) NEED c) PIN d) DANCE
Answer: d) DANCE

IfA=1,B=2,..., then the value of “LOGIC” is:
a) 54 b) 50 c)52 d) 49
Answer: a) 54

Find the next figure in the pattern: A, ¥V, A, V,?
a) Vv b) A c)m d)o
Answer: b) A

Which number is one-third of one-fourth of 240?
a) 20 b) 15 c)10 d) 30
Answer: b) 20

. Arrange in dictionary order: Plant, Plate, Plank, Play

a) Plank, Plant, Plate, Play b) Plank, Plate, Plant, Play
c) Plank, Plant, Play, Plate d) Plank, Plant, Plate, Play
Answer: d) Plank, Plant, Plate, Play



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

If in a code, ROPE is written as URSH, then SAND will be written as:

a) vDQG b) VDQE c) VCPD d) UCPG
Answer: a) VDQG

What comes next: 121, 144, 169, 196, ?
a) 225 b) 216 c) 205 d) 221
Answer: a) 225

Which of the following does not belong to the group?
a) Knife b) Scissors c) Axe d) Needle
Answer: d) Needle

If TODAY =100, then YESTERDAY = ?
a) 124 b) 122 c) 126 d) 120
Answer: c) 126

Find the odd one: 27, 64, 125, 216, 343, 500
a)125 b)216 ¢)343  d)500
Answer: d) 500

What is the mirror image of “DOG"?
a) GOD b) GOQ c) aob d) Cannot be determined
Answer: c) AOb

Complete the analogy: Foot : Shoe :: Hand : ?
a) Ring b) Watch c) Glove d) Bracelet
Answer: c¢) Glove

Find the missing term: 5, 10, 20, 40, ?
a) 50 b) 70 c) 80 d) 100
Answer: c) 80

If2+3=13,3+4=25,then4+5="
a) 37 b) 30 c) 45 d) 29
Answer: a) 37

Choose the odd one: Car Bus Cycle Train
Answer: c¢) Cycle

A clock shows 3:15. What is the angle between the hands?
a) 30° b) 7.5° c) 15° d) 12.5°
Answer: b) 7.5°

In a family, A is the father of B and C. D is the mother of C. What is D to B?

a) Aunt b) Sister c) Mother d) Cousin
Answer: c) Mother
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Find the odd one out: 81, 64, 49, 36, 20
a) 81 b) 49 c) 20 d) 36
Answer: c) 20

If “+” means “x”, and “x” means “~”, then what is 4 + 3 x 2?
a)l4 b)10 ¢)5 d)9
Answer: a) 14

Which of the following numbers is a square of a prime number?
a) 36 b) 49 c) 25 d) 15
Answer: c) 25

Ais taller than B. B is taller than C. Who is the shortest?
a)A b) B c)C d) Cannot be determined
Answer: c¢) C

If PENCIL = 63, and ERASER = 66, what is BOOK = ?
a) 34 b) 35 c) 36 d) 38
Answer: b) 35

Find the odd one: Mango Banana Apple Carrot
Answer: d) Carrot

What comes next: 3, 6, 11, 18, ?
a) 27 b) 26 c) 28 d) 29
Answer: a) 27

If all BLOOM =1, ROOM = 2, and MOON = 3, what is DOOR = ?
a)4 b) 2 c)3 d1
Answer: b) 2

Complete the analogy: Eye : See :: Ear: ?
a) Hear b) Smell c) Taste d) Feel
Answer: a) Hear

What comes next: A,C, F, J,0,?
a)T b) Q c)u d) Vv
Answer:a) T

How many triangles are there in a star?
a)4a b) 6 c) 10 d) 12
Answer: c¢) 10

What is the next number: 2, 6, 12, 20, ?
a) 28 b) 30 c) 32 d) 36
Answer: a) 30

Choose the word that does not belong: Pen Pencil Eraser
Answer: d) Book

Book
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If RED = 27, then GREEN = ?
a) 49 b) 50 c)52 d) 54
Answer: c) 52

A man walks 10 m south, then turns right and walks 5 m. Which direction is he facing?

a) East b) West c) North d) South
Answer: a) East

If in a certain code, BRAIN = CSBJO, then MIND =?
a) NJOE b) NJOE c) NJPF d) NJOE
Answer: d) NJOE

Which pair of numbers have the same relationship: 4:16::5:7?
a) 20 b) 25 c) 30 d) 15
Answer: b) 25

What is the missing number: 81, 64, 49, 36, ?
a) 25 b) 30 c) 28 d) 20
Answer: a) 25

. Which direction is opposite to Northwest?

a) Northeast b) Southwest c) Southeast d) East
Answer: ¢) Southeast

If ‘Apple’ is coded as ‘Bqgmf’, what is ‘Ball’?
a) Cbmm b) Bamm c) Camm d) Cbnn
Answer: a) Comm

Find the number of sides in two hexagons and one triangle.
a) 15 b) 18 c)14 d) 13
Answer: d) 15

If Sunday is the first day of the month, what day will the 10th be?
a) Monday b) Tuesday c) Wednesday d) Thursday
Answer: b) Tuesday

The opposite of South-East is:
a) North-East b) North-West c¢) South-West d) East
Answer: b) North-West

How many hours are there in 3 days?
a) 60 b) 48 c)72 d) 96
Answer: c) 72

Which figure has no corners?
a) Square b) Triangle c) Rectangle d) Circle
Answer: d) Circle
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What is the missing term: 5, 10, 20, 40, ?
a) 45 b) 60 c) 80 d) 100
Answer: c) 80

In the word “EXAMINATION”, how many vowels are there?
a)4 b) 5 c)6 d)7
Answer: d) 7

What comes next in the series: A, D, G, J, ?
a) K b) L M d N
Answer: b) M

If3x4=12and4x5=20,then5x6="
a) 28 b) 30 c) 32 d) 36
Answer: b) 30

Choose the odd one out: Lion Tiger Wolf Cow
Answer: d) Cow

What is the next number: 1,1, 2, 3,5, 8, ?
a)1l  b)12  ¢)13  d)14
Answer: c) 13

If TREE = 48, then LEAF =7?
a) 22 b) 28 c) 30 d) 36
Answer: d) 36

Which direction will you face if you are facing North and turn 270° clockwise?
a) East b) South c) West d) North
Answer: c) West

IfR=18,E=5,A=1, D=4, whatis the total value of READ?
a) 25 b) 28 c) 30 d) 27
Answer: b) 28

What comes next in the pattern: 0, O, 0, O, 0O, ?
a) O b) O c)A d) e

Answer: a) O

. Complete the analogy: Book : Read :: Pen : ?

a) Write b) Draw c) Paint d) Ink
Answer: a) Write

If2+2=8and3+3=18,then4+4="
a) 24 b) 28 c) 32 d) 36
Answer: b) 32
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Which number is missing: 64, 32, ?, 8, 4
a) 24 b) 20 c) 16 d)12
Answer: c) 16

Choose the word that is different: Bus Train Cycle Engine

Answer: d) Engine

What comes next in the sequence: Z, X, V, T, ?
a)s b) R c)P d)Q
Answer: b) R

If RAIN = 36, SNOW =?
a) 56 b) 59 c) 61 d) 62
Answer: c) 61

If a cube has 6 faces, how many faces do 3 such cubes together have?

a)12 b)18 c¢)6 d)24
Answer: b) 18

Which number does not fit: 11, 13, 15, 17, 18, 19
a) 13 b) 17 c)18 d) 19
Answer: c) 18

A clock shows 6:00. The angle between the hands is:
a) 180° b) 90° c) 120° d) 60°
Answer: a) 180°

Which number comes next: 10, 20, 40, 80, ?
a) 90 b) 100 c) 160 d) 120
Answer: c¢) 160

In a certain code, ROSE is written as SPTF. How is TREE written?
a) USFF b) USFF c) USGG d) URFF
Answer: b) USFF

Which shape has the least number of sides?
a) Triangle b) Square c) Circle d) Rectangle
Answer: c) Circle




Hindi:
1. 9T 5 % HH FIAT F TeT HETRT & -

a) FH TAHA HT b) He ¢ @Al ) HIGH F o1d HE d) & s A el

3 ¢) @l ¥ a1d FHLEAT

2. 9’ T gATIaTdr § -

a) &xdr  b) @lg  c) 3HRT  d) ORI
3 C) JATeRIeA

3. 'Sl Usg T fAeAH § -

a) A b) AT  c)I¥ d) TH
3a%: b) e

4. ' H H T 1 3T § -
a) GH geol  b) Fgd WA HAT ) A1h gl d)
3R b) SEA IRATT HTaAT

5. '"gE T el 3R ATH & B 3T ST - HT H@d g -
a) §AY W Ugd=l  b) AG & el ¢) W el el
YUAT

o]

3 d) ol A W T GUREAT

6. ' Asq H 3UH ¢ -
a)9 by& c) & d) P TG
3R d) HIS G

7. ' 1 faeA | -
a) Y b) eMfd  ¢) fadw  d) SO
33 a) hrer

8. 'IGTS I FT T FT TE HETa ¢ -
a) 3 W b) &id FET AT ¢) i@l FT dRT
3dY: d) Ao SR Ygadl

olleh YehSelT

d) lle 3 W el

d) FeT SAMHT TGalT



9. ‘el 3R HF ST HeraR Hr 3T ¢ -
a) SIea} UG gl Hehdd  b) 3HeTUe gl c) &R Fed gld & d) Ha T g §
3 b) 39S g

10.'STedr # T T HIH' Sgaldr ¢ -
a) g393r  b) gE@c  ¢) Sear  d) &l
3aY; a) gsdar

1.7 e &1 3 ¢ -
a) S arell  b) YUAT &@AA dlell  ¢) MIh  d) ST
3T b) YIET S@ aTell

12.'9G=1r 2leg H €T & §7?
a)u b)dg c)ar d)T
3 b) Ug

133718 & IR Tar=r &1 31 § -
a) N H WelelT  b) 0T IEpRT & 9O T ¢) AR e d) gy aker
3% b) 9T SRR & 9IE e

14.'0 9 & Flel’ T AdAT o -

a) T & I GR-GR el b) T HA F A T ) &l HHA SIS ¢l d) Th
FrH ST

3T b) U & F ar ey

15.'gT AT T TET 31T § -
a) 81 9¢ FAT  b) TBAET ) #fORl e d) 9

3T b) gSdll




16.'T31" Qrsq, T TaclleT FIT gHem?
a) THT b)) c) "uEr  d) IS A&
I d) P TG

17.'976¢" T JIIATT § -
a) del  b) &afd ) #TT ) 9T
3 ¢) HNT

18.'59AT U fhE YR T Ase 72
a) fRar  b) TAANUT ) T d) HaT
3d3: ¢) AT

19.37" ersg T ool § -
a) @ear  b) feeT ) gog  d) gIo
3% b) e

20, ST T T gHI -
a) A b) [@  c) TS d) TS
3a%: b) e

21.'geq’ s H fohdar 38T 872
a)2 b)3 ¢4 d)5
3dl: b) 3

22 '8l fhH YR T HAT §?
a) igdaras b)) Sifdargs  ¢) Hgaras

3 b) sfdaras

23.'9e1S' ersg H HIA-OT TcIT g2
a)§ b)sT )35 d) TS

d) gegarash




3 ) S
24.'7f" T 9ITIArET A ¢ -
a) T’FAR b) ¥ c) I d) A

3a%: d) aar

25.'fqelshel’ T LT 7Y FaT B2

a) AT b) Repar &1 c) T &I & d) wremT

I c) qUT ®9 &

26.'facar garfd faaad &1 3719 ¢ -
a) fdezm A= & & b) faeam & Far A &
faear & orfed fAerdr &
I c¢) Taedr @ faa#@dr 3 §

27.'qeT T GIATHT Qsq AT §7?
a) 95 b) s o) FN d) T
3a%; a) us

28.'311@ &I Al s HiA-ar g2
a) T b) Ak ) 3w d) S@e arel

3 c) 3T

29.'Nfa" Fg yR I g7 82
a) Sifdaraes  b) #lGarge  ¢) ITFdards

3dY: b) HATgdrdeh

30.'Sg' 3TET HT Tl T & -
a) SgIfd  b) SEII ) g d) TgHA

3d% b) Sgade

31.'¢T1T &' T GHASF ¢ -

c) facar & Rev@ar e &

d) gegaras

a) GASTAT  b) ¢@aT  ¢) AT 9T d) Golell

]

3O ¢) HeT oI

d)



32.'9@T TATAT HTaR & Y ¢ -
a) §aT &1 b) AT &l ¢) Y9 Wl d) 35 of@melm
3AX; a) gar e

33.'39a+" H Si-ar 39T §7
a)dd b)39 c¢)39g9 d) Tq9
33 b) 39

34.' 9" T AT FIT §72
a) §&X b) FEI ) Far  d) W@
3dX b) HET

35."gyT & GATar oreg & -
a) dxT b) d@ig c¢) @ d)
3 c) I

36.'"¢dY frg W i AT 82
a) AfFddrdeh  b) HIgdrgse  ¢) SAlfddrds  d) geddrde

3% ¢) Sifdarde

37.'Stel' eUsg, T ToldT § -
a) gfecar  b) Efeler  ¢) 3wAfdar ) AGERiclar
3@ a) giecdr

38.'g&r I el facl#A 2usg & -
a) Y b) IEET ) Jam  d) g@
3 ¢) Uar

39.'Foolel eusg HT Aalle § -
a) goiel  b) fe@e  c) 3WeeeT  d) HalEC
3T a) gotel

40.'9HTT T FATTLT 2T6g § -
a) ear  b) wew o) I d) R
3T b) FIfew




41.'STe’ T qIIaTET el © -
a) AR b) @ferd ) 3T d) @k
3a%: ¢) 3HPeT

42.'31cHY Usg H HIF-AT eIT §?
ay®M Db A ¢ s d) FS T
3R d) P 6T

43.'HTST T A9 A G &I ST AMBT - Ig Ao ¢ -
a) ATaAarge  b) AUIae  ¢) Udrad  d) [Avyaras
3% b) faurstaras

44.'Tears' 1 e erse § -
a)s[d b)®dICc ) A™T  d) godr
3aX. a) 3o

45.'39eRT TG & F 'TORTE AsE HT 3T § -
a) 3 ST b) 3fAGEA FIAT  ¢) JOIH AT d) FITRAT
3% b) 3fAaCsT HLar

46.'FAT FHEAT HgTaR & 37 § -
a) X H doC Ugelell b) IS8 & fU R T ¢) I5 =T d) Welsd AT
3 b) I8 & fAT dAR g

47.'a1AT del 39Tell eareT & 37 § -
a) ST AT b) 3MTT #T  ¢) T o¥AT  d) "&RT AT
3T b) 3MRIAT FHLEAT

48.'71Er eusg T foiar § -
a) Yieelar  b) Efeler ) AYFRIlaT  d) IS G
3a%: b) Efferar

49.'f3aT q¢ qlET o Herak 1 HY § -
a) BIRIART fG@ET  b) el AT C) 3R & HH T d) 36T § HH ol
34A%; C) 3TATT H A Flel




50.'$9T T Her Aol & -
a) @Al b)) TR ) Al d) 3TEROT
3 a) Al

51.'TASINY ereg o1 Teldr § -
a) gfectar  b) Efeler  ¢) AGEEET  d) FIS G
3a%: b) Efiferar

52.3ad" &l gATgard eeg § -
a) @I b)dad c) WR  d) 3

;Y

3aX: a) Gl

53.'drg T TaellH eg § -
a) Wl b)Td o) R d) anr
3aX: a) It

54.'T1&TR' ereq H Hled-AT IcTT 87
a)ay b)ysd c¢)Ax d) h
3 C) 3

55.'f4eT ATl & Theldl HAX & &I H dgellell ¢ -
a) YT THAFT  b) 96 WaIT ¢) #AFY WM d) TAGR
3 b) 96 fearT

56. Tacardl" ereg 7 39w § -
a) fagar  b) fagardt  c) AW d) FS T
3a%; ¢) 3

57.'qEcIhTerd’ Ase H YYFA 39T § -
a)9 b)&& c) eI d) T&I+P
3aX: d) JEde

58.'SHATACR' T faolieT s § -

a) IR b) WA c) Y  d) AH

3T b) SSART

59.'37[aT fe@rar AgraY #1 3 ¥ -

a) U IE ST b) 3IhR HEMT ¢) [y war d) FeAfq e



3dY: b) AR Il

60.'9%" 2rse T FHITRAT ¢ -
a) s b) TRAAT  c) TR d) TBITGA
3 d) R3S

61.'qTA-aTel gleT HgraX 1 37 & -
a) 9T AT b) dfoaid 8l ¢) W odar  d) e gler
31 b) dIfooid glell

62.' TN fohg ghR Fr T g7
a) Sifdarss  b) fddaas  c) $@aras d) gegaras

3 ¢) #1ddrdeh

63.'STeleh’ T Taalle &1 gram?
a) dMfhl  b) ger  c) & d) s
3a%: a) dforehr

64.'5H=T & Tl T & -
a) adAT  b) i@ c) ®wlas®  d) mew

2\

3 a) IdAT

65.'9RHHT &7 BT HoT gidT &' - Tg IaT ¢ -
a) ARRIcA®  b) Uddraes  c) Audaraes  d) faeAariesus

3 ¢) fauraras

66.'S[aUT QUeq, T T ¢ -
a)cE ¥ b))l ¥ ) A F  d) W &
3 ¢) Folol A

67.'escl &I GIE' Pgolldl § -
a) YsgHRI b)) aFT  ¢) T&dh  d) A
3a%; a) eAsGehIer

68.'dr@' FT [ UusE § -
a) T b) R&T ) AFHT  d) A
3dX: a) i}



